MARLEBR-

| 114 8 & B (=

3 T FFE AR

EXS

A g3

= 1CL Y

(= )E=MiHESR

SRR -
T p (50%) 2.4+ 3 3t fek &
% 4 (50%)
#E W fmIE
RE
Tk | A iRl - %
(40)% (B ~HV ..
G e ks D5 - Ped 38
TS L MEFY F-RFrEdg s @i L0 BRI (25 -
3 G096 TR Y KAk | BeFir R R A X I SN )
? 3. PRSP MRS 2L RE Foks 0 Ba- [MEEU T P LB
T LKL s 4 4 -
LR & 508 (3 =g
s PTF‘E%i%Q
§3a3%§ . LT
(10)% 2o~ B
A ARE T
ER
T PRI | R AT Y ; s w
@)% |5 YIRS TRECHVEED g ppages
o R T P s CBALS R A
TE AR . M7 ¢ S #F Jenl AL Sesp iy o .
FYHEEair e b kik b ar s g o p LB@?&%J— A
(50)% T e NE P Mip B3 EF LG N IR > F o0 Wizi 4 A L% 6
Foe.. SRR i WA R {'K;ﬁi;{’ ;Eﬁl s . =
d b pm | asaps | EIARO PRI ETEL e
ey sk g SCR S IR R M4t %f v b R?EE A % 2
33 & @'F‘ﬁ%i%} _ﬁf’—ﬁ"‘/‘o éé‘f“—-ﬁﬁi‘ﬂ
FEER g o A , L R R
agy |7 FE-E GESITESNES FREN . R
Txxﬁwnﬂ:}%% MI é‘_’%,}-j»\,}_}_o
R

~E
(FBIF A )

i

L i

2.8y ¥

1.} %% B 50%
L 7R 50%

4 3E

1.} 3% & 50%
2.1 ¥ 4 31 50%

ey )

Lapd 2 m(BA

B EAR R

1.} 342 & 50%

2.8 HIRF I 54 50%

70%

1} 342 R 30%
2.1% &




1808 40%
2. H vy 4 7 20%
3.F 34 T 40%

134 = 3% 40%
2.8 % fi A 30%
34 % 5 A= 30%

138 & e 20%

(&:)l.-_?.gg N ,&Eaﬂ'b ~ % R

AL E)
2.8 B %22 80%

(4 efe &~ PR32 R

B RdET)

1.5 40%
238 8 40%
SikE A H YA

1.5 3 40%
238 8 40%
SikE A B YA

AN T




